HX B O R OE$ (k2245 A 1 B B7E)

FEER RS HIX FRRRRLS X
Hh[X 4 QLR aa el Hi[X 4 JLRE 4 a Elckal
% o | s | | & | #REK 7 | ke || B | & [#EK

1 =57 814  936| 924 1,860 4 1 4 40 A H 260  346|  343| 689

2| (R 969| 1,193| 1,217| 2,410 44 IR 3 3 5 8

4 e 475| 497|524 1,021 45 JH/ | 113 106 89 195

5 Jbs e <F 329  449| 441 890| 37| 37 37 48 Yroo& 408  458|  531| 989

6 UNE! 224 373 333|706 49 HOFA 310]  347| 388] 735

8| Al (1F) 341 382 395 777 50 LD HL 367 396 463 859

10 P 206|  205| 218| 423 52 [iE)7238 431 516|  523| 1,039

11 BAH 53] NERE 448 436| 539| 975

14 _E 6 12 7 19 55 oo B 353  388| 428 816

15| BAEHISE 1,200( 1,518] 1,621| 3,139 56 R 261 270 326 596

16 FERISE 929| 1,307| 1,358 2,665 57 B i 168 198 206| 404

17 W2 380  391| 457| 848 58 — 197 191 225 416

18 &7 i 308  407| 419 826 59 N 194 219 244 463

19 SR A 17 19 23 42 60| TG A 17T B 220 234 240| 474

20 A H 1,217| 1,479 1,419 2,898 117| 117 117 61| mE1TH 117 125 149 274

22 FyhF 810f  962| 1,067 2,029 62| wmHE2TH 147 180| 204 384

23 A 277 347 353 700 63| mHE3TH 194 213 236| 449

24 HHN 888| 1,048| 1,137 2,185 64| mE4TH 72 90 88 178

25 VALl 65 /INRHHT 411 500/ 518 1,018

27 oKW TH 259 280 336| 616 66| HRH 1791  216] 225 441

29|  FHEHAE 19 19 19 67 = 107 141 154 295

31 L 96 123 104 227 68| TG 27T B 227 266 297 563

33 KL 329  402| 428 830 69 SR 143 185 211 396

38 YN 153 186 168| 354

9| AN E 144 197]  216| 413 7t 15,720| 18,756| 19,797 38,553| 158| 155 158




X BN O R O (k22485 A 1 H BL7E)

FEFRoR X FJEZR R
AR OB T AR OB WY
H1 X A4 QLIRS Hi1 X 44 QLR 28

% LG 0 = S B N “ O %~ % | S| | & [ RE
311 BHB1ITH 484  493|  503|  996| 17| 17 17 |391| #AF1TH 444 476|471 947
312| %2 TH 177] 218 213|431 392| 2T H 107 111 117 228
321 ME1ITH 394|  388| 403|791 393 W31 H
329| fE2TH 654| 664 697| 1,361 411 KRE1TH 376 421 428 849
323| ME3TH 428 460| 470 930 412| KM2TH 364| 429 463 892
331 BAH1TH 554| 526  516| 1,042 28| 28 28| | 413 AMSTH 279 278|294 572
332 BAHZ2TH 425 454| 464 918 414 A4 TH 417 432|437 869
333| BAM3TH 396  374| 408 782 431 WE/HTTT H 375 426 475 901
334| BAH4TH 632|  665|  780| 1,445 439| WE/HT2T H 818  924| 1,023| 1,947
341| K1 TH 802|  804| 805 1,609| 75| 75 750 | 440 kS 630  741| 778 1,519
342| RMH2T H 293 358 354 712 2 2 2| | 451 EFW1TH 436 521 557| 1,078
343| R#3TH 389 469 478 947 452| EFIR2TH 2701  270| 314 584
344| R4 TH 297 307 366 673 461 —XCE1TH 766 934 983| 1,917
345 RA5TH 394  403| 482 885 462| —3XH&E2 T H 636  744| 767| 1,511
351 KM1TH 941  928| 1,027 1,955 4711 AHITH 44 54 66| 120
350 EM2TH 934 855  986| 1,841 472 AH2TH 205 257|282 539
353 K3 T H 693  718|  784| 1,502 11 9 2| 11| |473] SH3TH 176| 232 224 456
361| HMHE1ITH 312|  306| 251 557 102 87| 15| 102| |474| S H4TH 309 454 478|932
362| HAHEZ2TH 386| 451 475|926 475 AH5TH 269|  334| 361 695
370 o5 7 < 574|  666| 630 1,296 22| 22 1l 23
381] AH1TH 196 290 252 542
382| AH2TH 673  967| 932 1,899 = 18,246| 20,176| 21,131| 41,307| 257| 240| 18| 258
383 AH3TH 297|  374| 337 711 N 33,966| 38,932| 40,928| 79,860| 415| 395 21| 416




